
Challenge:

Divide 7485 by 9.
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3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 
5

8
+ 
11

16
=

3) 
3

4
+ 
13

16
= 

1) 
4

6
+ 

7

12
= 

Date:
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 3687 x 38 =

3) 4699 x 19 =

1) 1245 x 27 =

Challenge:

Divide 84 by 10, 100 and 
1000.

Challenge:

The Perimeter of a rectangle is 48cm. 
One  of the loner sides of the 
rectangle is 13cm. What is the length 
of one of the shorter sides?

Challenge:

Find the common factors of 24 and 
48.


